mathrm a'N

HR000
O

=
5000
5000
e
ggooo
19000
O
1%000
<

©
12000
QI—
6000
S
£000
=
$000
prd

4000
S

%@ooo
=

Ratio to CMS
[N

0.5

13000 GeV pp Jets

I -~ r - ' - T - T T 1 T T T T T T T T I %
- . 0
—  Groomed Wldth)\_l1 (charged only) (CMS jet substructure) &
- =
- ®m CMS 13
— —A— Pythia 6.428 370 —n
— + - Pythia 6.428 378 mE
— Pythia 6.428 379 -
- mE
- — =
_ ms
- i)
— A 13
j o™
— | 13
p ™
[ 1
£3 =
- ;i —{ X<
il %i s
- ﬁ _ S
- [
A g
- mis
| N | wn
~ A\m\m\ s
| A o
| B, 1o
- OF—— s |— S

:h-.-_}-_—_* | W‘Lm | | -
— —2
1

| —0.5
| 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 0.5 1

groomed width (charged-only)



	Contents
	Page 1


